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Correct Answer :-

. Tgewa ¥ [Option ID = 40967]
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[Question ID = 17749]
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Correct Answer :-
. FEEITE (05000 1D = 40975]

Topic:- DU_J18 BELED_Topic02
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[Question ID = 17776]

1. ¥ [Option ID = 41095]
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Correct Answer :-
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2. T [Option ID = 41093]
3. T [option ID = 41091]
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Correct Answer :-

. T [option ID = 41091]
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y, T [Option ID = 41089]
2. 95T [Option ID = 41087]

3. “3 [option ID = 41090]
4, ¥9H [0Option ID = 41088)

Correct Answer :-
« FIHE [Option ID = 41088]
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4, el [Option ID = 41125]

Correct Answer :-
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4, FETEE [Option ID = 41128)]
Correct Answer :-
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Topic:- DU_J18_BELED_Topic04
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. ufEd [Option ID = 41617]

2 frafufed sede Fragw frred § 2 vad 3 R )

# - EEUETE, T T A 87
G - wft, # o, s, adae el qEar g
- =% I 7|
@ - 78 FE-HT A
F - 9% [0 A A Wdg Aarel
T FH TF GV G A - 8, T8 0 AT g | i off w9 A W W AR =g gen g
3 TET-TEL HIH, AT S HL T € g T el o e 2w fora 27
G Fra T A Frell 5 e gU aTel - J 0 qre 9 d 8w 16T ¢ Se-a¢ dieal & 4T 4 ¥ TaK &l ¢l 76 F0 B %
o fora g & | 30 T - e foa 2 6 Tt ) 70 AT S0 A e o g o g e s g v
U S &) QUL SIS e T ST FTE E, ST 90 S B g A
G F7F, 517 31

FI AT HA T & U A gE T8 87

[Question ID = 17908]

\ A 9158 o faf= 31T o1 THgH T &1 TaT (a1 =1 T 8|
5 ¥t T fara 0 T W R = e
3. SRR NSRRI e [Option ID = 41626]
i oA e & faara Te e e g

[Option ID = 41624]

[Option ID = 41623]

[Option ID = 41625]

collegedunia:

India’s largest Student Review Platform

~

T




Correct Answer :-

.. TN TR L [Option ID = 41626]
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1. ¥ [Option ID = 41610]
2. = [Option ID = 41609]
3. ™ [Option ID = 41608]
4. T [Option ID = 41607]
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. T [Option ID = 41607]
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[Question ID = 17905]

. T¥FET [option ID = 41613)
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Correct Answer :-
. TEIE [option ID = 41612]
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[Question ID = 17907]

WEER
i. [Option ID = 41619]
WY T A =T B ‘
2, =" [Option ID = 41622]
EC L E R TR E]
3. 2% [Option ID = 41621]
4, FERFEER [option 1D = 41620]

Correct Answer :-
. FERFEEER [option ID = 41620]

Topic:- DU_J18_BELED_Topic05

1) It hasalways been an aspect of the natural world that makes you suspect Mother Nature as a
deeply thinkingentity. The ability to camouflage among creatures is one such example. The

chameleon and the octopus are celebrities in this field and so are many insects. Some put on the
attire of similar creatures which are poisonous - but remain hammless themselves. The chameleon
and octopus even change their attire to blend into their backgrounds perfectly. They effect this

change in seconds as they move from one place to another. I have suspected that at least some
insects also seem to recognise which kind and colour of background to rest against in order to
disappear from view.

The chief purpose of all this subterfuge is. of course, survival. While many disguise themselves
in order to prevent being eaten, others disguise themselves in order to remain unseen as they lie

hidden, while hunting.

Ranjit Lal, The Hindu, February 4, 2018

Select any one of the following words from the passage that is appropriate for the given sentence. No one could think of him as the thief

as he entered the bank in ............. . [Question ID = 17961]

1. attire [Option ID = 41836]

2. unseen [Option ID = 41832]

3. camouflaged [Option ID = 41838]
4. disguise [Option ID = 41834]

Correct Answer :-

» disguise [Option ID = 41834]
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It has always been an aspect of the natural world that makes you suspect Mother Nature as a
deeply thinking entity. The ability to camouflage among creatures is one such example. The
chameleon and the octopus are celebrities in this field and so are many insects. Some puton the
attire of similar creatures which are poisonous - but remain harmless themselves. The chameleon
and octopus even change their attire to blend into their backgrounds perfectly. They effect this
change in seconds as they move from one place to another. I have suspected that at least some
insects also seem to recognise which kind and colour of background to rest against in order to
disappear from view.

The chief purpose of all this subterfuge is. of course, survival. While many disguise themselves
in order to prevent being eaten. othersdisguise themselves in order to remain unseen as they lie
hidden, while hunting.

Ranjit Lal, The Hindu, February 4, 2018

Select any one word/phrase from the passage that literally means ‘'same as surrounding people or things and therefore not easily
noticeable’. [Question ID = 17957]

1. Survival [Option ID = 41817]

2. Blend into [Option 1D = 41819]

3. Put on [Option ID = 41816]

4, Disappear from view [Option ID = 41821]

Correct Answer :-
» Blend into [Option ID = 41819]

It has always been an aspect of the natural world that makes you suspect Mother Nature as a
deeply thinking entity. The ability to camouflage among creatures is one such example. The
chameleonand the octopus are celebrities in this field and so are many insects. Some puton the
attire of similar creatures which are poisonous - but remain harmless themselves. The chameleon
and octopus even change their attire to blend into their backgrounds perfectly. They effect this
change in seconds as they move from one place to another. I have suspected that at least some
insects also seem to recognise which kind and colour of background to rest against in order to
disappear from view.
The chief purpose of all this subterfuge is. of course, survival. While many disguise themselves
in order to prevent being eaten. others disguise themselves in order to remain unseen as they lie
hidden. while hunting.

Ranyjit Lal, The Hindu, February 4, 2018

Based on the passage, which of the following statements is incorrect? [Question ID = 17962]

1. Chameleons can conceal themselves in a matter of few seconds [Option ID = 41843]

2. Some insects and animals are able change according to the surroundings to save themselves from being eaten [Option ID = 41841]

3. All creatures who camouflage are poisonous [Option ID = 41845]
4, Some predators also camouflage to hunt [Option ID = 41839]

Correct Answer :-
» All creatures who camouflage are poisonous [Option ID = 41845]

4)

It has always been an aspect of the natural world that makes you suspect Mother Nature as a
deeply thinkingentity. The ability to camouflage among creatures is one such example. The
chameleonand the octopus are celebrities in this field and so are many insects. Some puton the
attire of similar creatures which are poisonous - but remain harmless themselves. The chameleon
and octopus even change their attire to blend into their backgrounds perfectly. They effect this
change in seconds as they move from one place to another. I have suspected that at least some
insects also seem to recognise which kind and colour of background to rest against in order to
disappear from view.
The chief purpose of all this subterfuge is. of course, survival. While many disguise themselves
in order to prevent being eaten. others disguise themselves in order to remain unseen as they lie
hidden. while hunting.

Ranjit Lal, The Hindu, February 4, 2018
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The chameleon and octopus in the above passage have been referred to as celebrities among [Question ID = 17958]

1. predatory creatures [Option ID = 41827]

2. animals who are hunted [Option ID = 41823]

3. creatures who can disguise themselves [Option ID = 41825]
4. insects who can camouflage [Option ID = 41829]

Correct Answer :-
« creatures who can disguise themselves [Option ID = 41825]

5) It hasalways been an aspect of the natural world that makes you suspect Mother Nature as a
deeply thinking entity. The ability to camouflage among creatures is one such example. The
chameleon and the octopus are celebrities in this field and so are many insects. Some put on the
attire of similar creatures which are poisonous - but remain hammless themselves. The chameleon
and octopus even change their attire to blend into their backgrounds perfectly. They effect this
change in seconds as they move from one place to another. I have suspected that at least some
insects also seem to recognise which kind and colour of background to rest against in order to
disappear from view.

The chief purpose of all this subterfuge is, of course, survival. While many disguise themselves
in order to prevent being eaten, others disguise themselves in order to remain unseen as they lie
hidden, while hunting.

Ranjit Lal, The Hindu, February 4, 2018

In the context of the passage, nature has been referred to as a deeply thinking entity because of [Question ID = 17955]

1. the variety of creatures that are there [Option ID = 41812]

2. how animals have evolved [Option ID = 41814]

3. the difference in the nature of food habits of animals [Option ID = 41813]

4, the unigue ways in which certain creatures are able to camouflage themselves [Option ID = 41811]

Correct Answer :-
» the unigue ways in which certain creatures are able to camouflage themselves [Option ID = 41811]

Topic:- DU_J18_BELED_Topic06

1) Could the increasing deaths of agricultural workers be because of a lack of palm trees in the vicinity of fields? Previously, palm trees
were an (26). ..cocvransnsnnnn part of Odisha village life due to their multiple uses - building houses, making umbrellas, utensils for offering
prasad in temples and foddy. But over the years, these utilities have become (27). ....ccceues For instance, earlier the hard outer wood of the
palm trunk was used for constructing the framework of roofs, household posts and pillars of thatched houses. But (28) .......... the
introduction of asbestos and iron poles, they are no longer required for homes. Different types of vessels, which were used in agricultural
activities, were made from palm leaves. (29). ....., plastic containers have replaced them. Traditional umbrellas woven from palm leaves
(30). ...... used by farmers during the monsoon have been replaced by either raincoats or modern umbrellas.

Down to Earth, 16-21 December, 2017

Choose the option which cannot be used to complete the sentence (28)

[Question ID = 18131]

1. since [Option ID = 42524]
2. before [Option ID = 42515]
3. with [Option ID = 42521]
4. after [Option ID = 42518]

Correct Answer :-
» before [Option ID = 42515]

2) Could the increasing deaths of agricultural workers be because of a lack of palm trees in the vicinity of fields? Previously, palm trees
were an (26). .c.ccersurnnreans part of Odisha village life due to their multiple uses - building houses, making umbrellas, utensils for offering
prasadin temples and foddy. But over the years, these utilities have become (27). ..cicivaen For instance, earlier the hard outer wood of the
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palm trunk was used for constructing the framework of roofs, household posts and pillars of thatched houses. But (28) .......... the
introduction of asbestos and iron poles, they are no longer required for homes. Different types of vessels, which were used in agricultural
activities, were made from palm leaves. (29). ..... , plastic containers have replaced them. Traditional umbrellas woven from palm leaves
(30). ...... used by farmers during the monsoon have been replaced by either raincoats or modern umbrellas.

Down to Earth, 16-21 December, 2017

Choose the option which can be used to complete the sentence (27)

[Question ID = 18130]

1. outdated [Option ID = 42508]

2. necessary [Option ID = 42505]
3. important [Option ID = 42511]
4. underlined [Option ID = 42513]

Correct Answer :-
» outdated [Option ID = 42508]

3) Could the increasing deaths of agricultural workers be because of a lack of palm trees in the vicinity of fields? Previously, palm trees
were an (26). ...ccevannnninans part of Odisha village life due to their multiple uses - building houses, making umbrellas, utensils for offering
prasadin temples and foddy. But over the years, these utilities have become (27). ........... For instance, earlier the hard outer wood of the
palm trunk was used for constructing the framework of roofs, household posts and pillars of thatched houses. But (28) .......... the
introduction of asbestos and iron poles, they are no longer required for homes. Different types of vessels, which were used in agricultural
activities, were made from palm leaves. (29). ....., plastic containers have replaced them. Traditional umbrellas woven from palm leaves
(30). ...... used by farmers during the monsoon have been replaced by either raincoats or modern umbrellas.

Down to Earth, 16-21 December, 2017

Choose the option which can be used to complete the sentence (26)

[Question ID = 18125]

1. integral [Option ID = 42493]

2. irrelevant [Option ID = 42497]
3. sustainable [Option ID = 42494]
4, small [Option ID = 42500]

Correct Answer ;-
» integral [Option ID = 42493]

4) Could the increasing deaths of agricultural workers be because of a lack of palm trees in the vicinity of fields? Previously, palm trees
were an (26). ..cociransnsnnnn part of Odisha village life due to their multiple uses - building houses, making umbrellas, utensils for offering
prasad in temples and foddy. But over the years, these utilities have become (27). ....cccenee For instance, earlier the hard outer wood of the
palm trunk was used for constructing the framework of roofs, household posts and pillars of thatched houses. But (28) .......... the
introduction of asbestos and iron poles, they are no longer required for homes. Different types of vessels, which were used in agricultural
activities, were made from palm leaves. (29). ..... . plastic containers have replaced them. Traditional umbrellas woven from palm leaves
(30). ...... used by farmers during the monsoon have been replaced by either raincoats or modern umbrellas.

Down to Earth, 16-21 December, 2017
Choose the option which cannot be used to complete the sentence (30)

[Question ID = 18137]

1. often [Option ID = 42539]
2. frequently [Option ID = 42542]
3. seldom [Option ID = 42548]

4. repeatedly [Option ID = 42545]

Correct Answer :-
+ seldom [Option ID = 42548]
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5) Could the increasing deaths of agricultural workers be because of a lack of palm trees in the vicinity of fields? Previously, palm trees
were an (26). cuiinninan part of Odisha village life due to their multiple uses - building houses, making umbrellas, utensils for offering
prasad in temples and foddy. But over the years, these utilities have become (27). ........... For instance, earlier the hard outer wood of the

palm trunk was used for constructing the framework of roofs, household posts and pillars of thatched houses. But (28)

the

introduction of asbestos and iron poles, they are no longer required for homes. Different types of vessels, which were used in agricultural
activities, were made from palm leaves. (29). ..... , plastic containers have replaced them. Traditional umbrellas woven from palm leaves
(30). ...... used by farmers during the monsoon have been replaced by either raincoats or modern umbrellas.

Down to Earth, 16-21 December, 2017

Choose the option which can be used to complete the sentence (29)

[Question ID = 18136]

1. Nevertheless [Option ID = 42535]
2. Because [Option 1D = 42538]

3. If [Option ID = 42532]

4, Now [Option ID = 42529]

Correct Answer :-
» Now [Option ID = 42529]

Topic:- DU_J18_BELED_Topic07

1)

One morning, while I was sitting beside Grandfather on the verandah steps, I noticed the tendril
of a creeping vine trailing nearby. As we sat there. in the soft sunshine of a North Indian winter. I
saw the tendril moving very slowly towards Grandfather. We gazed at it in fascination. Twenty
minutes later it had crossed the step and was touching his feet. There was probably a scientific
explanation for the plant’s behaviour - something to do with light or warmth perhaps - but I liked
to thinkthat it moved across the steps simply because it wanted to be near Grandfather. One
always felt like drawing close to him. Sometimes whenI sat by myself beneatha tree, I would
feel rather lonely, but as Gthndfather joined me, the garden became a happy place.

The Man who loved Trees, Ruskin Bond

The word "it’, repeatedly used in the above given passage, refers to the [Question ID = 18176]

1. morning [Option 1D = 42698]
2. creeper [Option ID = 42696]
3. light [Option ID = 42697]

4, tendril [Option ID = 42695]

Correct Answer :-
« tendril [Option ID = 42695]

One morning, while I was sitting beside Grandfather on the verandah steps, I noticed the tendril
of a creeping vine trailing nearby. As we sat there. in the soft sunshine of a North Indian winter. I
saw the tendril moving very slowly towards Grandfather. We gazed at it in fascination. Twenty
minutes later it had crossed the step and was touching his feet. There was probably a scientific
explanation for the plant’s behaviour - something to do with light or warmth perhaps - but I liked
to thinkthat it moved across the steps simply because it wanted to be near Grandfather. One
always felt like drawing close to him. SometimeswhenI sat by myself beneatha tree, I would
feel rather lonely, but as Giindfather joined me, the garden became a happy place.

The Man who loved Trees, Ruskin Bond

Which of the following statements is not true about the relationship between the author and his Grandfather? [Question ID = 18175]

1. The author thought his grandfather to be a caring person [Option ID = 42691]
2. He thought his Grandfather had magical qualities [Option ID = 42693]
3. He rarely relished the company of his Grandfather [Option 1D = 42694]
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4. He believed his Grandfather's presence made the surroundings pleasant [Option ID = 42692]

Correct Answer :-
» He rarely relished the company of his Grandfather [Option ID = 42694]

3) One morning. while I was sitting beside Grandfather on the verandah steps. I noticed the tendril
of a creeping vine trailing nearby. As we sat there. in the soft sunshine of a North Indian winter. I
saw the tendril moving very slowly towards Grandfather. We gazed at it in fascination. Twenty
minutes later it had crossed the step and was touching his feet. There was probably a scientific
explanation for the plant’s behaviour - something to do with light or warmth perhaps - but I liked
to think that it moved across the steps simply because it wanted to be near Grandfather. One
always felt like drawing close to him. Sometimes whenI sat by myself beneatha tree. I would
feel rather lonely, but as Gihndfather joined me, the garden became a happy place.

The Man who loved Trees, Ruskin Bond

Which word in the passage means ‘to grow or hang downwards over something or along the ground’? [Question ID = 18179]

1. Drawing [Option ID = 42707]
2. Moving [Option ID = 42709]
3. Noticing [Option 1D = 42708]
4. Trailing [Option ID = 42710]

Correct Answer :-
+ Trailing [Option ID = 42710]

4) One morning, while I was sitting beside Grandfather on the verandah steps. I noticed the tendril
of a creeping vine trailing nearby. As we sat there, in the soft sunshine of a North Indian winter, I
saw the tendril moving very slowly towards Grandfather. We gazed at it in fascination. Twenty
minutes later it had crossed the step and was touching his feet. There was probably a scientific
explanation for the plant’s behaviour - something to do with light or warmth perhaps - but I liked
to thinkthat it moved across the steps simply because it wanted to be near Grandfather. One
always felt like drawing close to him. Sometimes whenI sat by myself beneatha tree, I would
feel rather lonely, but as Grhndfather joined me, the garden became a happy place.

The Man who loved Trees, Ruskin Bond

Through this passage, the author wants to convey that [Question ID = 18178]

1. a garden becomes a happy place when several creepers are planted [Option ID = 42706]

2. a creeper likes to be in the company of old people [Option ID = 42704]

3. there is a scientific explanation about how plants move towards sunlight [Option ID = 42703]
4, there is a strong bond between him and his Grandfather [Option ID = 42705]

Correct Answer :-
» there is a strong bond between him and his Grandfather [Option ID = 42705]

5) One morning, while I was sitting beside Grandfather on the verandah steps, I noticed the tendril
of a creeping vine trailing nearby. As we sat there. in the soft sunshine of a North Indian winter. I
saw the tendril moving very slowly towards Grandfather. We gazed at it in fascination. Twenty
minutes later it had crossed the step and was touching his feet. There was probably a scientific
explanation for the plant’s behaviour - something to do with light or warmth perhaps - but I liked
to thinkthat it moved across the steps simply because it wanted to be near Grandfather. One
always felt like drawing close to him. Sometimes whenI sat by myself beneatha tree, I would
feel rather lonely, but as Giindfather joined me, the garden became a happy place.

The Man who loved Trees, Ruskin Bond

The phrase 'gazed in fascination’ from the passage means: [Question ID = 18177]
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1. To stare at something in bewilderment [Option ID = 42702]
2. To look casually [Option ID = 42700]

3. To look fixedly at something in awe [Option ID = 42699]

4, To look with deep longing [Option ID = 42701]

Correct Answer :-
» To look fixedly at something in awe [Option ID = 42699]

Topic:- DU_J18_BELED_Topic08

1) Inthe Augustof 1947, thousands of people across the Indian subcontinent woke up to the
realisation thata line had been drawn across their nation giving birth to an entirely new
geography. As an inevitable consequence, thousands became refugees almost instantly.

But human beings are tenacious creatures. In the midst of losing much, they carry within
themselves an entire world of traditions and culture that almost nothing can separate them from.
One such thread is that of food. The food that they eat miraculously survives, to which are added
elements of newness and often flourishes under the discerning eye of the primary cultural
bearers. the mothers in most households.

The idea of what is home undergoes radical transformation for those who have become exiled in
their own backyard. or even those who become islands of their own. in lands familiar. yet not. It
is with this understanding that we come to realise that man doesn’tleave behind land or homes
for the generation next— for history has taught us the fragility of such permanence. The only
permanence thus comes from the stories and memories of home, food and laughterthat one
generation leaves behind for the other.

Maitryee B. Chowdhury The Indian Express, 28 January, 2018

Which phrase from the passage means ‘having or showing good taste or judgement'? [Question ID = 18290]

1. radical transformation [Option ID = 43153]
2. inevitable consequence [Option ID = 43151]
3. discerning eye [Option ID = 43152]

4, drawn across [Option ID = 43154]

Correct Answer :-
» discerning eye [Option ID = 43152]

2) Inthe Augustof 1947, thousands of people across the Indian subcontinent woke up to the
realisation thata line had been drawn across their nation giving birth to an entirely new
geography. As an inevitable consequence. thousands became refugees almost instantly.

But human beings are tenacious creatures. In the midst of losing much, they carry within
themselves an entire world of traditions and culture that almost nothing can separate them from.
One such thread is that of food. The food that they eat miraculously survives, to which are added
elements of newness and often flourishes under the discerning eye of the primary cultural
bearers. the mothers in most households.

The idea of what is home undergoes radical transformation for those who have become exiled in
their own backyard. or even those who become islands of their own. in lands familiar. yet not. It
is with this understanding that we come to realise that man doesn’t leave behind land or homes
for the generation next — for history has taught us the fragility of such permanence. The only
permanence thus comes from the stories and memories of home, food and laughterthat one
generation leaves behind for the other.

Maitryee B. Chowdhury The Indian Express, 28 January, 2018

Which statement is not suggested in the above given passage? : [Question ID = 18292]

1. Food often continues to remain and survive beyond geographical divisions [Option ID = 43162]

2. August 1947 was a period which rendered many homeless [Option 1D = 43161]

3. Stories and memories of home, food and laughter are passed on from one generation to other [Option ID = 43159]
4, Refugees should decide which side of the line should their home be [Option ID = 43160]
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Correct Answer :-
= Refugees should decide which side of the line should their home be [Option ID = 43160]

3) Inthe Augustof 1947, thousands of people across the Indian subcontinent woke up to the
realisation thata line had been drawn across their nation giving birth to an entirely new
geography. As an inevitable consequence, thousands became refugees almost instantly.

But human beings are tenacious creatures. In the midst of losing much, they carry within
themselves an entire world of traditions and culture that almost nothing can separate them from.
One such thread is that of food. The food that they eat miraculously survives, to which are added
elements of newness and often flourishes under the discerning eye of the primary cultural
bearers. the mothers in most households.

The idea of what is home undergoes radical transformation for those who have become exiled in
their own backyard. or even those who become islands of their own. in lands familiar, yet not. It
is with this understanding that we come to realise that man doesn’t leave behind land or homes
for the generation next— for history has taught us the fragility of such permanence. The only
permanence thus comes from the stories and memories of home, food and laughterthat one
generation leaves behind for the other.

Maitryee B. Chowdhury The Indian Express, 28 January, 2018

‘Human beings are tenacious creatures’. The word ‘tenacious’ refers to the idea that [Question ID = 18289]

1. they are overworked [Option ID = 43148]

2. they are determined and don't give up easily [Option ID = 43147]

3. they cannot keep up with the changes around them [Option ID = 43149]
4, they have the tendency to lose what they have easily [Option ID = 43150]

Correct Answer :-
= they are determined and don't give up easily [Option ID = 43147]

4) Inthe Augustof 1947, thousands of people across the Indian subcontinent woke up to the
realisation thata line had been drawn across their nation giving birth to an entirely new
geography. As an inevitable consequence, thousands became refugees almost instantly.

But human beings are tenacious creatures. In the midst of losing much, they carry within
themselves an entire world of traditions and culture that almost nothing can separate them from.
One such thread is that of food. The food that they eat miraculously survives, to which are added
elements of newness and often flourishes under the discerning eye of the primary cultural
bearers, the mothers in most households.

The idea of what is home undergoes radical transformation for those who have become exiled in
their own backyard, or even those who become islands of their own, in lands familiar, yet not. It
is with this understanding that we come to realise that man doesn’t leave behind land or homes
for the generation next— for history has taught us the fragility of such permanence. The only
permanence thus comes from the stories and memories of home, food and laughterthat one
generation leaves behind for the other.

Maitryee B. Chowdhury The Indian Express, 28 January, 2018

In the context of the passage, which of the following statements about food cannot be directly deduced? [Question ID = 18291]

1. Mothers are described as having the knack of nurturing food [Option ID = 43157]

2. Food is an important experience that survives across generations [Option 1D = 43156]
3. Food is a significant element of culture [Option ID = 43155]

4, Food cannot help in bridging ties with other nations [Option ID = 43158]

Correct Answer :-
» Food cannot help in bridging ties with other nations [Option ID = 43158]

5)
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In the August of 1947, thousands of people across the Indian subcontinent woke up to the
realisation thata line had been drawn across their nation giving birth to an entirely new
geography. As an inevitable consequence, thousandsbecame refugees almost instantly.

But human beings are tenacious creatures. In the midst of losing much, they carry within
themselves an entire world of traditions and culture that almost nothing can separate them from.
One such thread is that of food. The food that they eat miraculously survives, to which are added
elements of newness and often flourishes under the discerning eye of the primary cultural
bearers, the mothers in most households.

The idea of what is home undergoes radical transformation for those who have become exiled in
their own backyard. or even those who become islands of their own, in lands familiar, yet not. It
is with this understanding that we come to realise that man doesn’tleave behind land or homes
for the generation next— for history has taught us the fragility of such permanence. The only
permanence thus comes from the stories and memories of home, food and laughterthat one
generation leaves behind for the other.

Maitryee B. Chowdhury The Indian Express, 28 January, 2018

What is the "inevitable consequence’ referred to in the passage? [Question ID = 18288]

1. All were forced to remain within the country of their birth [Option ID = 43146]
2. Many had been lost in the new countries [Option ID = 43145]

3. There was a new boundary [Option ID = 43143]

4, Many people were displaced [Option ID = 43144]

Correct Answer :-
» Many people were displaced [Option ID = 43144]

Topic:- DU_J18_BELED_Topic09

1) Read the following statements about formation of land breeze.
Es ¥ & T | fetatan F9 #9ey |

(i) Itis formed by process of convection of heat/ T Fmfn F=7 ¥ T9e7 %1 vl gz 2
(ii) Tt blows only at night /72 3w < & et

(iii)It blows only in summers/ 78 == 76418 Tod1 &

(iv) It blows from land to sea./ T %o =" & vz 1 9K Twd(?

Which of the following statement(s) are true about land breeze?
T F T A e A 2 § e wE) v v d 0

[Question ID = 18323]
i) and (iv) / (1), == (iv

1, 0 )/ @396 [Option ID = 43286)

, (). (ii) and (ii) / (i), (). @ (i)

3. Only (i) / %= (i) [Option ID = 43283]

. (1), (ii) and (iv) / (1), (11), T (1v)

[Option ID = 43284]

[Option ID = 43285]

Correct Answer :-
(@), (i) and (iv) / (), (i), W ()

[Option ID = 43285]

2) The colonial rule affected the life of the pastoralists of India and Africa by
YA R A 9RE R WAEE ¥ SEe F wE O w1

[Question ID = 18343]

; making forests accessible / =wefl # s F T 710 [Option ID = 43366]
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granting natives absolute choice to cultivate what they wanted / #a Hariadl ®I @i ge &1 71
5 T8 @ 379+ woll & Welr & e [Option ID = 43364]

,, taking away their land and restricting their movement/ vt s sra7 32 ST T ST i
, transforming cultivated land into grazing land / dt-awi it st 1 = ft st o wftarfda

[Option ID = 43363]

[Option ID = 43365]

Correct Answer :-

. taking away their land and restricting their movement/ 37t 5= sea %t 37 7 ST it o [Option ID = 43363]

3) Multiple cropping refers to:
FEHTE! W FATATTS

[Question ID = 18338]

Cultivation of wheat and rice in alternate rows / 7€ ik STae &t Giat dtweai d a1
1 . [Option ID = 43344]

Cultivation of more than one crop on the same field each year / vs @ sawrwuar uF 1 @a § yfaad a1

2 [Option ID = 43345]

Cultivation of two crops in alternate rows / a1 S@e % UhHiat Uit § a7
3. P [Option ID = 43343]

Cultivation of crops and rearing of animals on the same farm / v% # @ 5 soa # a1 IR S0 H
4, T QIO [Option ID = 43346]

Correct Answer :-

Cultivation of more than one crop on the same field each year / v @ samrwae o & @a ¥ ufdad a0 [Option ID = 43345]

4) Given here are two statements about ‘disguised unemployment’. Based on these statements,
select the appropriate answer / 7=l w=o=1 aUsFTHI % o1 # a1 %97 AT # | 37 #9441 % amam = 3fa s

L. People are apparently working and all of them are made to work less than their
potential / T et graT 2 fE A Em # @ € S i I @ T U I EH A B

I People are working for the whole day and vet their earning is very little / = @ fa=
o T # o fe oft T w2

[Question ID = 18341]

, Tis trueand I is false / 15 2 1177w 2
, Lis false and II is true / 11 we 2 Irefa 2
,, BothI and II are false / Iud 12T e 2
4, BothIandII are true /133 Il i et 2

[Option ID = 43355]

[Option ID = 43356]
[Option ID = 43358)

[Option ID = 43357]

Correct Answer :-
Iis trueand II is false / 1 5& # I7rew 2 [Option ID = 43355]

5) Rakeshrolls down a marble from a fixed height on an inclined plane. At the bottom of the
inclined plane. the marble will cover the shortest distance if
TR foRdT ST e T AT ST O U T g 2SS W 2 ael UL, e e 5 g O S at-
[Question ID = 18317]
, The surface is made of marble / sz % =i 2

[Option ID = 43250]

, The surface is made of sand/ TR T [Option ID = 43260]

The surface is covered with oil / seeseacfis=? _
3. =" [Option ID = 43262]

collegedunia:

India’s largest Student Review Platform



4 The surface is made of glass / ae #i= & = 2 [Option ID = 43261]

Correct Answer :-

. The surfaceis made of sand/Fee@H TR [ .0 10 - 43060)

6) In which of the following situations, largest force will be experienced by a current carrying
conductor when placed in a magnetic field?
fratatas 7 @ frg sawa 3 Gadig $am = viawuio Uk gwET S, Gad AfE o F I79E F0 0
[Question ID = 18315]
when the direction of the electric currentis 45%to the magnetic field / s faga s i fawn o

), T a450ma [Option ID = 43251]
when the direction of the electric current is at 90 to the magnetic field / s faga ww #it fown g=fa
), a0 ma [Option ID = 43252]

when the direction of the electric current is at 120%to the magnetic field / = faga sm i feen
5, T e E 1200w

when the direction of the electric currentis at 180°to the magnetic field / == faga s & faam
i Fehm draE 1800w

[Option ID = 43253]

[Option ID = 43254]

Correct Answer :-
when the direction of the electric current is at 90°to the magnetic field / sr=fagg s # fawn =

g @ 900 war [Option ID = 43252]

7) A person with short-sightedness (myopia) is recommended
Forape 5fe 2w @ vifea =t = gama s 2 -

[Question ID = 18314]

= To use convex lens / 3we =@ = 7 [Option ID = 43249]

) To use a combination of concave and convex lens / ¥=aas va 3991 o9 & oo =1 wam [Option ID = 43250]

\% = ;
5, To use concave lens / e ofa %1 warm [Option ID = 43247]

, TO use sun protecting glasses / 7@ gua w1 e T T——

Correct Answer :-

. Touse concave lens / s@=ae v %1 73m [Option ID = 43247]

8) If the government of one state decides not to allow migration from other states, which
Fundamental Right will be violated?
T forait U =7 1 T ST TS & AW WA o SRt T8 & 5 i w2, 71 e St At w5 geees e

[Question ID = 18339]

, Right to Freedom / war #1 DN [Option ID = 43348]
, Right against Exploitation /s % faeg siferen [Option ID = 43349]
, Right to Constitutional Remedies / @3 3v=m #1 sifuan

4 Right to Equality / @ = sifumn [Option ID = 43347]

[Option ID = 43350]

Correct Answer :-
. Right to Freedom / w=amar 1 > By [Option ID = 43348]
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9) The minute and the hour hands of a clock are 5 cm and 3 cm respectively. What is the sum of
the distances travelled by their tips in a day?
w ugl Fi e oit w2 o gE o wend e S WA o 3 WA 7 # | v for o 3 o g wm gt mam e &

[Question ID = 18302]

;, 856.cm /856 T (00 1 = 43201]

, 720 cm / 720 9
3. 792 cm / 792 T

[Option ID = 43202]
[Option ID = 43200]

4. 900 cm / 900 75 [Option ID = 43199]

Correct Answer :-

10) A number is chosen at random among the first 50 natural numbers. The probability of
the number chosen being a multiple of 6 or 12 is:
T WA H el 50 WA HEATET § U i B W A a1 E) 6 31 12 % 0T Sielt Uean S g 9 i WeTET a6 27

[Question ID = 18303]

1. 4/25 [Option ID = 43203]
2. 3/25 [Option ID = 43204]
3. 1/25 [Option ID = 43206]
4, 2/25 [Option ID = 43205]

Correct Answer :-
+ 4/25 [Option ID = 43203]

11) The missing number in series: 24, 18,27. 60.75..... . 683.43751s:
24, 18, 27, 60.75, ... , 683.4375 siaen = Tas Hi W TR :
[Question ID = 18305]

1. 540 [Option ID = 43214]
2. 127.75 [Option ID = 43211]
3. 182.25 [Option ID = 43212]
4, 98.5 [Option ID = 43213]

Correct Answer :-

« 182.25 [Option ID = 43212]

12) Which ofthe following is not related to Akbar’sidea of ‘Sulh-i-kul":
T U T T IHR F Gee-i-Fl (GGG ¥ gEtud T@ &

[Question ID = 18347]

’ followed by Shahjahan and Jahangir / smesreT aftt st 3 ft o rgor i
, Anattemptto spread Islam / v =1 /or #== 1 w

[Option ID = 43382]

[Option ID = 43379]

5, Way of governance / g F1 #itH (Option ID = 43380]

, Universal peace and tolerance / i wiffe o afewryar [Option ID = 43381]

Correct Answer :-

. Anattempt to spread Islam /@ #17/=1 [Option ID = 43379]

13) Which of the following does not hold true for ‘Collateral asset’
TH U HUT FUT GHYE ROMIR % fog o T 22
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[Question ID = 18345]

It is an asset that the borrower owns and is used as a guarantee to a lender until the loan is
repaid / 7 F=ter Fi wufy w1t 2 f50 T Hors o T F AR e EsiaeT O T 2

) [Option ID = 43371]
It may not be needed by self-help groups of poor women / st s/t = il & @=d %

, T o T A e € [Option ID = 43374]
It is a loan given by the government at cheap rate to buy assets / 7z TR g7 T a1 W Tufd
3, TR fore fe v ot e @ [Option ID = 43372]

It may be in the form of landtitle or livestock / =z yfrar safiai s e d et 2

4, [Option ID = 43373]

Correct Answer :-

It is a loan given by the government at cheap rate to buy assets / 7z w=r g7 T a1 T Tufd

atie o forg fon o e 2 [Option ID = 43372]

14) In the peninsular region of India there is hardly any noticeable change in the temperature pattern
during winters. Which of the following conditions causes this phenomenon:
WA % TR &7 & A F TR F Yo § F0 JeeaAd iadd aad # 8 e @ | W i Gefafas s a e g
frafa = 2:

[Question ID = 18342]

. |nfluence of the Sea / w1 w3 [Option ID = 43361]

, Distance from Himalayas / feremwiaiagh 0 oo

Retreating Monsoon / @itear g3 a=g
3. 5 - [Option ID = 43362]

Proximity to Equator / y-weawan @ wftwar
4. : [Option ID = 43360]
Correct Answer :-

Influence of the Sea / gz 1 w3 [Option ID = 43361]

15) 50% of a number is added to the number itself. The percentage of the result that needs to be
subtracted to get the original number back is:
T 50% T4 TEar F ST | Hof ST S99 TR FA o g s o T sfaere werr @

[Question ID = 18299]

1. 33.33% [Option ID = 43190]

2. 50% [Option ID = 43189]

3. 25% [Option ID = 43188]
4. 40% [Option ID = 43187)

Correct Answer :-
« 33.33% [Option ID = 43190]

16) Arun, Neha and Umesh start walking around a circular track at the same time from a starting
point, in the same direction. Arun takes ! hour, Neha takes 3/;; hour, and Umesh takes !/; hour
to complete the walk. The number of rounds each person has to complete before all three meet
together again at the starting pointis:

STEVT, T U AT U TAIHN T T WESA (95 T UF T (59 H, WA T W IS 6 A #3099 O
H v v, TEH Y, w0 W, v @ |yt g W e s e % fo wer st s we  aem

[Question ID = 18298]
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1. 10, 11, 12 [Option ID = 43186]
2. 11, 15, 12 [Option ID = 43185]
3. 10, 12, 15 [Option ID = 43184]
4,11, 12, 13 [Option ID = 43183]

Correct Answer :-
« 10, 12, 15 [Option ID = 43184]

17) If m: every rational number is a fractional number
n: every fractional number is a rational number.
then which of the following is correct:
A% m: TeAE iy T U R e g
n: T R gem U siea e g,
frfmiasmaad

[Question ID = 18311]

;. nis trueand m is false /n @@ M m WAL (0000 1D - 43238

, bothm and n are true/ i m FRnTEE [Option ID = 43235]

;, bothm and n are false / T msfwnsmea & o o0 4aoae

m is true andn is false / m T2 A nymea #

4 [Option ID = 43237]

Correct Answer :-

. mistrueandn is false / ma@@ s s R (o 00 43037,

18) The main constituent ofnatural gas is
T A T T EE #

[Question ID = 18331]

1. CO, [Option ID = 43317]

2. He [Option ID = 43318]
3. CH4 [Option ID = 43315)
4. H, [Option ID = 43316]

Correct Answer :-
» CH4 [Option ID = 43315]

19) Sandy soil is usually not considered good for most of the plants because
saTeTat Gt & forg weta firdt st = et st =it

[Question ID = 18326]

. It retains water for a long time / 7= e THT 7% T T 9t 2

, It has poor aeration / w1 31 %+ a1 [Option ID = 43296]
;. It contains more minerals / 25 @f¥= ward affers 21 & [(Option ID = 43297]

[Option ID = 43298]

4 1t can’thold water / 7= srer st oo e 7@ T [Option ID = 43295]

Correct Answer :-

. It can’thold water / 7= =ie =t amor =& T w1 [Option ID = 43295]

20) 15 peopledecided to contribute Rs 1800 each for a community get together. However few of
them were unable to contribute, so the remaining persons had to contribute Rs 1200 more per
head . The number of people who were unable to contribute are:
15 S W T e % for 1800 wwd wft w Arer 2 w0 twen e 3 @ o arrem a F srgwd 9 sofen e
AT = wfe safts 1200 ¥99 5 AT ieE TTer &1 921 FTET T 0 9 3T | a6 9 #Je
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[Question ID = 18306]

1. 7 [Option ID = 43218]
2. 4 [Option ID = 43217]
3. 5 [Option ID = 43215]
4. 6 [Option ID = 43216)

Correct Answer :-
» 6 [Option ID = 43216]

21) Consider the following two statements on Federalism and select the appropriate answer. / ==
& H Frfefas wat #t 2 H TEd 5 30 FaT w5 T4 Heg

I. The existence and authority of each level/tiers of government need not be specified
and guaranteed by the constitution / wm % Teas & % Hfae w3 At %t i s we

II. The highest court has the ultimate responsibility to seftle disputes that arise between

different levels of government in their exercise of powers / &=1 % 39 & =y § TWHL F
o vt % ofrer o foamat & Fwert & anfatt s s=2aw =maem 1 2

[Question ID = 18344]

, BothIandII are false / 1w | EACIRIC G
; Iis trueand II is false / 15df 2 e 2

;, BothIand II are true/ 1w I T TR R
Iis false andII is true/ n@& 2 Iem 2

[Option ID = 43370]
[Option ID = 43367]
[Option D = 43369]

4 [Option ID = 43368]

Correct Answer :-

Iis false and II is true / m @& 2 177efa 2 [Option D = 43368]

22) Which of the following statements about the Buddhist Sangha is incorrect?
Jr=t fea e ot o § gatad wuE 90 S T EuE Ted 8 2

[Question ID = 18336]

Some members described their lives in Sanghas through poems / @ we=i 7 @g ¥ o9 a7 & I
, e gr foeam &

The rules made for the Sangha are written down in the Vinaya Pitaka / @ % fou s=mw mu fam
, Tomafies o sa & foma mo # |

[Option ID = 43338]

[Option ID = 43335]

There were separate branches for men and women / @9 % gewi 5 faai & fog s sgmmar ofy
3 [Option ID = 43336]

All the members had to engage in some economic activity to sustain themselves in the

: Sangha / 99 % s Sfre =ree #3 F foru wewt =t % anfis =l e gz |

4 [Option ID = 43337]

Correct Answer :-

All the members had to engage in some economic activity to sustain themselves in the

Sangha / @9 % 1 S99 sadta 7 % forg g %1 #i3 anfids Hd Fen ggar 91| [Option ID = 43337]

23) The triangle that is not possible to construct s :
Tz g Forma Fmior e e i 2

[Question ID = 18300]

g A scalene right angled triangle / v ﬁﬁqﬂ@ ¥ 3 [Option ID = 43194]
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) An isosceles obtuse angled triangle / u% wafgam st B

5 A scalene obtuseangled triangle / @ﬁm@mﬁaﬂwﬁy :
, An equilateral right angled triangle / us wwarz Toem fings

[Option ID = 43192]
Option ID = 43193]
[Option ID = 43191]
Correct Answer :-

An equilateral right angled triangle / v wwarg T fing= [Option ID = 43191]

24) Which of the following statements is true about the ‘Dawes Plan® ?
F O FUT TEA T A ad 2 7

[Question ID = 18351]
A plan to impose more fines on Germany / ST T FATET JHT T 1 TF T

1
= A plan to extend the land area of Germany / S+t %1 ’@5‘ G AT

[Option ID = 43395]

[Option ID = 43397]
3, Aplan to lend money to Germany to ease the financial burden / T afdE s s F v tmam e frasT

4 Germany’s plan to lend money to other European countries 3 A AT U 39T A e A

[Option ID = 43396]
[Option ID = 43398]

Correct Answer :-

. Aplan to lend money to Germany to ease the financial burden / < =7 snfefs srgs 01 % forg ¥ umE3 Fr A= [Option ID = 4339]

25) Which of the following statements about the French Revolution is correct?
Frafafaa o @ 27 ar wu widid wita % fawad R

[Question ID = 18340]

It demanded for power sharing of the clergy with the government / 5o srfai & arv ww F @ fassm
EIR I ,
1. [Option ID = 43353]

It was initiated by the clergy / sasi yrama wwat-anT aw € [Option ID = 43351]

It held that the social position of the people must be based on birth over merit / sg= w==1 o &% @

3. 5 QIR G 0 SR e S B R e [Option ID = 43352]

It challenged the social and political privileges enjoyed by the aristocrats / 5o sifs=ma-=it & =atwar &

i o e Fiired o i &

4, [Option ID = 43354]

Correct Answer :-
It challenged the social and political privileges enjoyed by the aristocrats / o sifw=a-=n & =i &

. TGP SR At e gt o [Option ID = 43354]

26) Which of the following device is use to detect the presence of charge on a body?
Fordt ward W s Fr Iuftafy =1 v % fom Sefafae 3 9 g sver = wam e smar @ 2

[Question ID = 18319]
1. Telescope / 7 [Option ID = 43267)

5 Galvanometer / frea=rdiet
5, Ammeter / s [Option ID = 43269]

4 Electroscnpe}ﬁgamﬁ (Option ID = 43268]

Correct Answer :-
Electroscope/ fagazsi [Option ID = 43268]

[Option ID = 43270]

collegedunia:

India’s largest Student Review Platform




An electric heater is rated 2500W. How much electricity does it consume in 5 hours?
u e e o 1fem 2500 W ) v e 3 7w et et o AT 22

[Question ID = 18322]

1. 125 kWh [Option ID = 43281]
2. 12.5 kWh [Option ID = 43280]
3. 0.50 kWh [Option ID = 43279]
4. 500 kWh [Option ID = 43282]

Correct Answer :-
» 12.5 kWh [Option ID = 43280]

28) The sky appears reddish at the time of sunrise. Which of the following statements explains the

reason for this?
AT % T AT e et 2 2 Frefates $ 8 9 w1 wes w5 % 9 o e 8 0

[Question ID = 18321]

At sunrise, light has to travel the maximum distance to reach our eves. The red color is least

scattered due to maximum wavelength and hence is visible tous. / T2z w5z W™ F1 #6N W@ 7%

T % o wd el ol ol wedt @ e e o7 S v st wirdd ¥ wvor vad w5 st g 2, o

g, Rzl [Option ID = 43276]
The red color is the brightest color in the sunlight and it shines most as the sky is clear in the

mOorning. / =ver & g & T § Gaw wfees SifEm 078 TuT waw s SweaT € F4ih A 3§ ST Wk T 2

The red color undergoes total internal reflection at the time of sunrise making the sky appear red.
/ QTR % T N % PO Y Y A W e % ] AT A WA w2
At sunrise, the light has to travel the least distance to reach our eyes. The red color is most

scattered due to shortest wavelength and hence is visible to us./ gaiza % @wa vaw % g i@t a5
e % o Tt o ot 7 o Ut 2 qun e O A9 Tl e T ¥ e Oed st s g 2, o

[Option ID = 43275]

[Option ID = 43278]

4 feEETETR [Option ID = 43277]

Correct Answer :-
At sunrise, light has to travel the maximum distance to reach our eves. The red color is least

scattered due to maximum wavelength and hence is visible tous. / T9=2% v73 w9 ¥ 201 #i@ 7%
T ¥ v s ol mewe s @ v e O e T wlew worid F won v v A A 8, e

, ey [Option ID = 43276]

29) Given below are two statements, one is an Assertion (A) and the other is the Reason (R). Select
your answer from the following options given below: /5= & #u= g 7y &, w # = (A) iR @ =
FR0 (R)F w9 H e man | 99 fume oewd & @ wdt s
(A) Assertion: The coastline of Atlantic Ocean provides ideal location for natural harbours and
ports. / afirpaT : sreeites TeramR $ aran SrFaF Seee uE uré 5 ¥ fog et # |
(R) Reason: The coastline of Atlantic Ocean is highly indented. / #ww : swefcs wemmm #i Fowen 787
B ]

[Question ID = 18334]

’ (A) is true, but (R) is false / (A)wé 2 5ifF (R) Toa 2| [Option ID = 43325]
Both (A) and (R) are true, but (R) is not the correct explanation of (A) / (A) 3 (R) =1 & 2

2, (R), (A) o wdh v = 2| [Option ID = 43328]
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3.

4.

Both (A) and (R) are true and (R) is the correct explanation of (A) / (A) =¥ (R) == @#t & 7am (R),
(A) = TEt =T & |
(A) is false, but (R) is true / (A) e 2 #if# (R) Tt 2|

[Option ID = 43327]

[Option ID = 43330]

Correct Answer :-

. A Frud e

Both (A) and (R) are true and (R) is the correct explanation of (A) / (A) =W (R) =T @é # 741 (R),

[Option ID = 43327]

30) If today is Friday. the day 280 days from today will be :

It 37T IHaR 2, 7 o @ o W e T we a fema

[Question ID = 18307]

1

2

3.

4

Saturday/wifam
Sunday / fE=w

[Option ID = 43220]

[Option ID = 43221]
Thursday /& o010 = a3219)

Friday / ypram [Option ID = 43222]

Correct Answer :-

Friday /35w oo 10 = 43222]

31) The phenomena of ‘Osmosis’ is described as follows:

oo #t vhEm F e ven aafta B srowar )

[Question ID = 18330]

4,

The movement of solute molecules from a less concentrated solution to a more
concentrated solution through a semi-permeable membrane./ faem sy = srdumony et g
79 e g oty feme 5 v

The movement of solute molecules from a more concentrated solution to a less

concentrated solution through a semi-permeable membrane./ fae s = sndorors fresdt g
Tty e O 77 e o va

[Option ID = 43313]

[Option ID = 43314]
The movement of solvent molecules from a more concentrated solutionto a less
concentrated solution through a semi-permeable membrane. / fawmas swpt # srfoors faesdt
s @y faerae @ 77 faes dua

The movement of solvent molecules from a less concentrated solution to a more

concentrated solution through a semi-permeable membrane. / fawmas syt =1 spfawer fesht
g 7 Foree © wy faeee o we

[Option ID = 43312]

[Option ID = 43311]

Correct Answer :-

The movement of solvent molecules from a less concentrated solution to a more

concentrated solution through a semi-permeable membrane. / faemas st = srurors e

g a7 Foree @ oy e o vere [Option ID = 43311]

32)
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Two men. starting at the same point, go in opposite directions for 12 km each. Each then turns
left and goes for 5 km. How far would they be from each other?
a1 et , o g @ e e 2, uw qee d fala feen | 12 ff, s # | et o o o gd E s 5 A s d 3w

e
[Question ID = 18308]

;, 34 Km/ 34 f5h. [Option ID = 43226]
o, 12Km/ 283 o001 = 43203

3, 13Km/ B8 (o600 1p = 432241
4, 26 Km/ 2683 (o 000 1p = 43225]

Correct Answer :-
. 26 Km/ 26T, (o100 1p = 43225]

33) If each edge of a cube is halved then its volume:
Ifs g% g e it aman = e stroat s e

[Question ID = 18294]

remains the same / @ #
i wen [Option ID = 43170]

, becomes one fourth/ T ST B S [Option ID = 43168]

3. becomes one eighth / srizan fewm #rsmem [Option ID = 43169]

4 I8 halved / zmar =r=mam [Option ID = 43167]

Correct Answer :-

. becomes one eighth / svigar e #1=mam (Option ID = 43169]

34) In the laboratory. astudent is given a sample of water to determine its boiling point. To his
surprise the given sampleboiled above 100 degree Celsius.Which one of the following is
incorrect about the above phenomenon?
el % AU (ATSeT UTEe) T 6T S % (o, FanTeen # e e @t stet 5 e foar man snsdsew dw 3o wan
fon T = 100°C &5 AT W en | S A e fafa % v d fefafes dg s e

[Question ID = 18325]

; The thermometer may be faulty./arosmdt ardt 21 o 2 [Option ID = 43291]

The student must have recorded the reading wrongly as water always boils at 100 degree
, Celsius. / faamdi= i e wet gnft F7its e gwm 100° C ot o [Option ID = 43293]

5 The sample of water must have salts dissolved in it. / arfi % =73 5 o= getgw &t [Option ID = 43202]

The water must have boiled for longer time. / sesam v g gaaram
4, [Option ID = 43294]
Correct Answer :-

. The sample of water must have salts dissolved in it. / 9t % T 5 == ge 2w &1 (Option ID = 43292]

35) The length of a rectangle is increased by 15% and its width is decreased by 10%. The area

of new rectangle is :
T AT 6 T H 15% 6 305 5 2 IR 5w 7 10% F g 7 | T ad F & § A g

[Question ID = 18301]

y, decreased by 2% /2% FTer v 1o 43106)
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,, Increased by 5% / 5% Eaqr (o0 15 - 43108]

neither increased nor decreased / Fsgr 7wz

3 [Option ID = 43195]

increased by 3.5% / 3.5% @ =gr

4 [Option ID = 43197]

Correct Answer :-

. 0 S0/ T
increased by 3.5% / 3.5% @ =@ [Option ID = 43197]

36) Assuming X andy are natural numbers, which amongst the following is not true :
X UF y T WTHd TEATE AHaR STl (o Fefeiad % 4% e 98 2 ;

[Question ID = 18313]
. If GCD(x.y)= 1. then x and y cannot both be even. / afz GCD(x,y) =1, 71 x T y =1 &7 T& & T N—

N If GCD(x.y) = 2. it implies bothx and y are even. / afc GCD(x,y)=2, 7 x W& yTHI G | [Option ID = 43243]

LCM(x.y) is a factor of GCD(x.y) for all x andy. / x w& y &t wrafos deanan & fau. LCM(x.y),
, OCDExY)™ o7 B [Option ID = 43245]

, LCM(x.y) is a factorof xy. forall x and y./x @ y @t spferss seanatt & fow, LOM(x.y). xy 71 7 [Option ID = 43244]
Correct Answer :-
LCM(x.y) is a factor of GCD(x.y) for all x and y. / x w& y ot wrafers dremani s faw, LCM(x.y),

GCD(x.y) ¥ 7%
(x.y) 1 T 2] [Option ID = 43245]

37) Which of the following does not fall within the purview of the state legislature?
Frfafas % @ == o1 % o=a faae o % s d = smar 2

[Question ID = 18335]

Distribution of water for irrigation between districts in a state / &t v=2 % ffim G F 99 e 5
y: foa art =ier s

Deploying police personnel for safety of women in the state / 7= = wizenar % gran 2 gfem
5 FHT T AT

Introduce a bill in the Vidhan Sabha for the welfare of the farmers / e % #=um 29
o o farer wege e

[Option ID = 43333]
[Option ID = 43331]

3 [Option ID = 43334]

Recruiting soldiers in the army / o= 5 @ & wdff
4, [Option ID = 43332]

Correct Answer :-

Recruiting soldiers in the army / @ 5 @i # wdff
: [Option ID = 43332]

38) Which of the following is not true regarding how politics can be reformed?
T W P F T g & wed § T &
[Question ID = 18352]
; Citizen's organizations and media play an active role / it 2 Teaaii 3k Hifear #r atwg i w2
: There is a need to strengthen democratic practices / AFAIEH oMt LEEGECE] FrFEE 2 [Option ID = 43400]
The citizens should be empowered through rights like the Right to information / FrTiet %t =1 & aferry g et o

[Option ID = 43401]

2

3, T A Y [Option ID = 43402]
Only legal constitutional changes can reform democracy / fas Tlfﬁ' T Soend B Ay = qur
4, % g [Option ID = 43399]

Correct Answer :-
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Only legal constitutional changes can reform democracy / fa® Frt W aaena # wrFad H TuN
eET R 4

39) A company sells 200 ml of juice in one bottle and ten such bottles are packed in one
carton. The number of cartons needed for 350 litres of juice is:
T FAT 200 Taefretiet T 1w wae ®awdt € 31 UHT 50 Side O foed 7 U o STt 21 350 wiet W fog
e feeat 6 g T,

[Question ID = 18295]

1. 195 [Option ID = 43171]
2. 175 [Option ID = 43174]
3. 150 [Option ID = 43173]
4. 200 [Option ID = 43172]

Correct Answer :-
= 175 [Option ID = 43174]

40)  Choosethe correct option to fill in the blank: / fres waw %t wer % forg wét fames =
In Igneous and Metamorphic rocks, minerals may occur in the cracks, cervices, faults or joints.

The small occurrences are called ......... . While the larger are called......................
ATE T TG T 7 0, Sier 99 7 faet 7 @t e ) o mE # ., 0 L S
el e |

[Question ID = 18349]
, Veins, lodes / fimr, wa

p, Beds, veins /Te, BT (o 000 _ 4337)

3, Horsts, grabens / smd, S0 o000 1p = 43380)
4, Beds, lodes /@, v

[Option ID = 43388]

[Option ID = 43390]

Correct Answer :-

. Veins, lodes /81, 58 (00 1p - 43388]

41) In howmany total ways can the letters of the word STOREY be arranged if all six letters are
used at the same time?
af% T 6 3t 1 WA U # A F T Star & 91 %o f6e ol @ STOREY % amett =t sqafius e smaswan 22

[Question ID = 18304]

1. 360 [Option ID = 43209]

, None of these / 57 @ %13 +ft =

3. 720 [Option ID = 43208]
4, 120 [Option ID = 43207]

[Option ID = 43210]

Correct Answer :-
= 720 [Option ID = 43208]

42) When different metals like Zn, Fe, and Mg were dropped in diluted HCL, a colourless gas

evolved which burnt with a popping sound. The gas could be:
S HCl# Zn , Fe 7am Mg Sieft g zrelt s, wp i & vzt 7 a7raet % wre o e g Pl 7 e 1wt )

[Question ID = 18327]

1. CO, [Option ID = 43301]

2. He [Option ID = 43302]
3. H, [Option ID = 43300]

4. O, [Option ID = 43299]

[Option ID = 43399]
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Correct Answer :-
» H; [Option ID = 43300]

43) The excess of a substance in stomach causes indigestion and its effect can be decreased by using
milk of magnesia. The substanceis
ot ward it wfira e F e ey = 2, 9w fies oifw At 3 v O 3o v S gorET ST Gt 21 T verd w4

77
[Question ID = 18320]
. Sodium hydroxide / oifeaw seg=ass OstRiD S
2. Nitric acid / 7wfz® s [Option ID = 43272]
" Hydrochloric acid / ség=entt= 7=
4 Sulphuricacid / wevfe s

[Option ID = 43273]
[Option ID = 43271]

Correct Answer :-

. Hydrochloric acid / ssgi=entts av= [Option ID = 43273]

44) If x-y =8 andxy = 41, thenx3—- y3is:
e xy=8aRxy=41, ALV E

[Question ID = 18312]

1. 1496 [Option ID = 43240]
2. 1969 [Option ID = 43239]
3. 1379 [Option ID = 43241]

. None of these / w7 w=rs 78 [Option ID = 43242]

Correct Answer :-
= 1496 [Option ID = 43240]

45) From the following statements about Public Interest Litigation (PIL). which one is correct?
e Fri=rE (91,3780, % 9 H T 5 O i greus oE 27

[Question ID = 18348]

Only a letter or a telegram addressed to the court could be treated as PIL / =z =1 w=i man fok w&
| A AR # Sed i S S €

" PIL’s are only filed in High Court. / t.37% v, #5a 39 =@ 5 € o i i 2 | [Option ID = 43384]

Prior to the filing of a PIL. an FIR has to be lodged with the local police / s=fea mfa= 7w #=27 @ v
5 T Qfers % AT U, 3R 3 e e |

Only a social organization is allowed to file a PIL on the behalf of the oppressed / == v e
4, T # Iedifea wem it ot W o omue. s v 2 |

[Option ID = 43386]

[Option ID = 43385]

[Option ID = 43383]

Correct Answer :-
Only a letter or a telegram addressed to the court could be treated as PIL / =z =1 w=i man fok w&

. AT AR A e avfee JE a8 [Option ID = 43386]

46) Vikram’s present age is four times his daughter’s present age and half of his mother’s present
age. The average of the present age of all of them is 39. The difference between Vikram’s

daughter present age and Vikram’s mother present age is|:
forsrm ot Ty vy weht 92t o S aTg A AT # AR okt /i d Faan oy i et # | 3ot i s g a eitma

30 # | e o 31 it e arg it foeew o o o e ey % ofre s R

T
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[Question ID = 18310]

1. 63 yrs/ 63w [Option ID = 43232]

55 vyrs/ 55T _
% [Option ID = 43234]

3. i }FI'S:" e o [Option ID = 43231]

4 33 yrs/ 53 @ [Option ID = 43233]

Correct Answer :-
_ 63 yrs/ 63 @@

47) A gardener wishes to fence his 200 square meter rectangular vegetable garden. Since he has
only 30 m barbed wire. he fences three sides of the garden letting compound wall of his house
act as fourth side fence. What is the length of his compound wall used?

TF HTet 3799 200 1 ST F SATER 3769 d I F FE AT =edT 2 | T 360F I Fae 30 e wert an e, 98 3|
W 1 0 WIS ST ® TR 36 T i ST Je o s e o S a0 w0 e e 2 | 369 U da e Fae ?

[Question ID = 18296]

i 20m/ 20
5 15m/ 15wtz

[Option ID = 43178]
[Option ID = 43176]

3, 25M/B5FE (6 on 1o = 43177)

4, 40m / 40 et [Option ID = 43175]

Correct Answer :-
. 20m/ 20

48) How many digits are required to write the number 207?
20 TEm i T % foru e o & aravasan

[Question ID = 18297]

1. 13 [Option ID = 43182]
2. 12 [Option ID = 43181]
3. 10 [Option ID = 43179]
4, 11 [Option ID = 43180]

Correct Answer :-

[Option ID = 43232]

[Option ID = 43178]

« 10 [Option ID = 43179]

49) Which of the following describes the correct pathway ofblood in the circulatory system?
fraferfaa & @ =t d=ror @ 5 o % ad anl w6 getar a?

[Question ID = 18333]

Veins—> ventricles—>arteries—2atria/ imd - fem—> wwfmf Danfder
1, [Option ID = 43325]

g Atria = ventricles = arteries=> veins / @ifeiz—=> Fag—> uwiai - fing
5 Ventricles=> atria—> veins—> arteries / Fea—> anfeig—> fimgd =2 wwtmi

N Atria—>arteries—>veins > ventricles / anfie—=> gt 2 fima 2 e

[Option ID = 43323]
[Option ID = 43324]
[Option ID = 43326]
Correct Answer :-

. Atria - ventricles - arteries= veins/ anfeie—> a2 wafai >

50)

[Option ID = 43323]
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Which of the following elements has the same molecular mass as its atomic mass?
s & 0 %17 1 a0 %1 2] 5o I6E T e % A 2 7

[Question ID = 18318]

; Nitrogen/ W [Option ID = 43263]
o, Chlorine /T 3 o540 1p = 43266]

3, OXygen / s [Option ID = 43265)
4, Neon / [Option ID = 43264]

Correct Answer :-
. Neon /R [gption 1p = 43264]

1) Which of the following rights is not ensured by the Consumer Protection Act 19867

Frefefaa 5 4 I AT AT ITH ohT s sl 1986 grogfifam =6

[Question ID = 18350]

, Right to safety / g a1 sifem [Option ID = 43393]
» Right against exploitation/ s = faeg am=ms s @1 sfuwn
;. Right to choice / =z I bE a0y (Option ID = 43392]
, Right to information/ I AER

[Option ID = 43394]

[Option ID = 43391]

Correct Answer :-
. Right against exploitation/ s = {5 s sam %1 st {Opiion fD=453641

52) Minimum Support Price is:
2 ARdT 5eg o A 27

[Question ID = 18337]

The preannounced price paid by the government to the farmers for their crops / T g
T 6 36 e % T Teet @ahe e w5 e

A payment made by the government to the producer to support market price of a
commodity / Tr g oo w1 3w i A Fma % weds % fag e e [Option ID = 43339]

The price. lower than the market price at which food grains are distributed to people in deficit
areas

3, SR e W b, Form v A e @ i g A e s S [Option ID = 43342]

A payment made to the consumers below the poverty line to buy food grains from the
ration shops / it Tar @ = ret InmTaTST I Wired F fore faw I e e

1. [Option ID = 43341]

4, [Option ID = 43340]

Correct Answer :-

The preannounced price paid by the government to the farmers for their crops / @ g

| Tt =t 3t wuw % fo veet @ A fe = e [(Option 1D = 43341]

53) The atom of an element contains thirteen protons. It’s valency would be
U e % T & 13 e #) 3ot Garsrar 54 et -

[Question ID = 18316]

1. 1 [Option ID = 43258]
2. 5 [Option ID = 43255]
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3. 3 [Option ID = 43256]
4. 2 [Option ID = 43257]

Correct Answer :-
« 3 [Option ID = 43256]

7 7 wnge Tz i gufiufy e e a2 0

[Question ID = 18332]

. Jaundice / difern
5 Diabetes / =%

[Option ID = 43321]

[Option ID = 43319]

5, Goiter e [Option ID = 43322]

ia / TTeaar
4, Snaemi [Option ID = 43320]

Correct Answer :-

Jaundice / diferm [Option ID = 43321]

55) In a cricket match average of runs of a player in 6 innings was 30. How many runs he should
make in next inning to increase the average of runsby 6 ?
w Tortbe e o wmp Raenet 3 6 it & aftaa w 30 =91w o | prelt url 3 @ i afted 6 U aeH % fr 3 e w e
=few;

[Question ID = 18309]

1. 90 [Option ID = 43230]
2. 72 [Option ID = 43229]
3. 210 [Option ID = 43228]
4, 216 [Option ID = 43227]

Correct Answer :-
« 72 [Option ID = 43229]

56) On adding acetic acid to a solid ‘Y’ takenin a test tube, it was observed that a colourless,
odorless gas ‘X" was evolved. The gas extinguished the flame of a burning candle. What can be
inferred about Y and X respectively?

TF 2 e H A MU B Y H ufiew I e WO U1, e 18 X 6 Fed g o ) 39 i el 5 A
=t gz fon S8 Y T X % A F e 41 S S a2

[Question ID = 18328]

, Sodium hydroxide and H, / wifez ergiaame @ H; [Option ID = 43303]

, Sodium hydroxideand CO » / @iz sregiams & CO; (Option ID = 43306]
;, Sodiumacetate and CO >/ WS WRE WCO: (1 _ 4azo

4, Sodium hydrogen carbonateand CO »/ Tifeaw TEgH FEHE W CO; [Option ID = 43305]

Correct Answer :-
. Sodium hydrogen carbonate and CO ; / wifezw #rggi== Faie @ CO;

[Option ID = 43305]

57)
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The following measures are suggested to industries and factories: fitting smoke stacks to factories,
scrubbers, inertial separators and use of oil or gas instead of coal. What is the purpose of these measures?

JarT ot FErEt @ e wlE g e € 9 % fog St famtat e, wee svwn, i vevE e @ Seeim s Y
T W % T 0T U Frge i AU 9 F 9 6 WA T | 3 Al o a4 36V o g 27
[Question ID = 18346]

Decrease in industrial raw waste / F7@m=1 F =2 9078 F1 92T [Option ID = 43378]
Making factories more resource optimized / FR@RT % GATSA 1 TS0 FER &7 TIFT FHAT [Option ID = 43376]

i
2,
Increasing production / 3= =grr [Option ID = 43375]

4 Control pollutants released in the air/ &1 3 918 ¢ wgwe ardf #i Faf@wen

-

[Option ID = 43377]

Correct Answer :-

. Control pollutants released in the air/ 1 % ote 7¢ wgwa werdi #1 FafE F=1 [Dptmn D = 433??]

8) What will happen when pressureis slowly applied on a gas capable of dissolving in a liquid?
FT BT S 550§ g § TEH U 0 W i i 3T e s ?

[Question ID = 18329]

, The gas will escape from the liquid / o zor 4 Freper STt [(Option ID = 43310]

Apphed pressure will have no effect on the solubility of gas / i gemefiear o ey 7y ara =1 5 7=
5, B [Option ID = 43308]
3, Less gas will dissolvein thatliquid/se sz damf@aert 0015 _ 43300]
4, More gas will dissolve in that liquid / =& == % Famwr @ Zevft [Option ID = 43307]

Correct Answer :-
. More gas will dissolve in that liquid / su s F s aeft (010 _ 433071

59) Which of the following is not a primary sector activity?
T U T wafis g o fafafrad 2

[Question ID = 18353]
i Cultivating cotton /@& &t Gt [Option ID = 43403]

5 making sugar from sugarcane /=14 = %1 3e0ET

3, BShIng / FoHFEF |00 10 = 43408)
. milk production from dairy animals / =% et @ g9 % e

[Option ID = 43405]

[Option ID = 43404]

Correct Answer :-

making sugar from sugarcane /73 <=t @1 IeaE .
. [Option ID = 43405]

60) Consider the following
frafafas w fF=m it

Photosynthesis / wrer =g

Respiration/ sa=

Transpiration/ smaegs=

. Decay of organic matter / stfas ward = fames

Which of the above add carbon to the carbon cycle on Earth?
Fe forelt 22 wiran = @ #9 f ufem e =1 o e et 2 2

B R e
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[Question ID = 18324]
, 2&3 only / F=e 2 @ 3

; [Option ID = 43288]
,2&4 only / Fae 2 T 4

[Option ID = 43290]
3, L&A only /Faad 1T840 000 1p = 43287

3&4only/Fa3wE4

4 [Option ID = 43289]

Correct Answer :-
_ 2&4only/Fw2wE4

[Option ID = 43290]

collegedunia:s

India’s largest Student Review Platform



